Wednesday, Janu

Eq. Given R = -2+ 1.

Fod 203,40, 4(2), £(x-1)

C... (nven %(x) = x1_2x+3,

Foed %(-D, a(o\, q (2, «3(20,
%(*’i)

Soldon:

O 2= -2(-3Y 41 =[17
£(0) = -2:(0) 4 ¢ -t
4(2) = 2(aY+4 =[-3

{(g-i) = =2(x-1) + 4

< -2(x-1)(x-1) + 1

= -2<xz-2x+i.> +1

= =2x%464x-2 +4 :l‘z"z“’z”"i],
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@ ﬁ(x) - xP-2x+32

9(-1) -[e)
q (0 =12}
r3(2) :@
4(20) = (2¢) - 2(2¢) + 3
=14x* - 4x +3

q(x-1) = k-1 -2(x-1) +3

= X -2x +L -2x 42 43

=|x* —4x +6
l=.5.
_3_ W(:L):
x -4
w(x-i) = 3("-13 = x-3
x -4 -4 X -2
3
w(e) - 38 | =
¢ *-L’- A -
x L-x %
-3 . = I 3

x 4 ->x ;((‘L—x) = 4-%
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c‘uow v a;um L’a +fa «gu\m..g«.:
\,g,(aul\) - {(x) \
>

Eug Guon 263 = -3 - 4 Fid 4 Affen
ﬁw\i«.&.
G’t:t 1. ftd £(X+QA) = -3(x+2\> -4 .
= -3()(@) ~4
= =3 ( x* + 2xhh -\-2\7') -4
4(%-\-2\} =l —3x% - xR -38%-4
% PQ“(‘S w e A’.%mu ;(uokuo\ ;@;m&a
cd M‘.‘,Lga . 46
Ax+8) - PO -3L2-6xl 30 -4 - (— 3’ - 47 )
L. - I
_ 3K Ox e -3 K KK
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_ —Gxh -3RY ) /e:(-éx—3f;)
= 7 - y”

- —éx-3ﬂu\——’ & Yforans. quchant
BW next hee: wat b pecand video
ad do the HW for this opic.

New Section 1 Page 9



